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12.4 – Quadratic Equations with Complex Solutions 
 

Find the number and type of solutions for the following quadratic equations using the 
discriminant. Then, solve each equation using the quadratic formula. 

 

1. 𝑥2 − 4𝑥 + 3 = 0          𝑎 = __________  𝑏 = __________ 𝑐 = __________   
 
 
 
 
 
 
 
 
 

Number & Type of Solutions:  _______   Solution:  ________________ 

 

2.  𝑥2 − 2𝑥 + 2 =  0       𝑎 = __________  𝑏 = __________ 𝑐 = __________   
 
 
 
 
 
 
 
 
 

Number & Type of Solutions:  _______  Solution:  ________________ 

 

3.   5𝑥2 − 4𝑥 + 8 = 0          𝑎 = __________  𝑏 = __________ 𝑐 = __________   
 
 
 
 
 
 
 
 
 
 

Number & Type of Solutions:  _______  Solution:  ________________ 



 

4.   𝑥2 + 10𝑥 + 25 = 0 𝑎 = __________  𝑏 = __________ 𝑐 = __________   
 
 
 
 
 
 
 
 
 
 
 

Number & Type of Solutions:  _______  Solution:  ________________ 

 

5.    5𝑥2 + 2𝑥 + 1 = 0          𝑎 = __________  𝑏 = __________ 𝑐 = __________   
 
 
 
 
 
 
 
 
 
 
 

Number & Type of Solutions:  _______  Solution:  ________________ 

 

6.    5𝑥2 − 6𝑥 + 5 = 0          𝑎 = __________  𝑏 = __________ 𝑐 = __________   
 
 
 
 
 
 
 
 
 
 
 

Number & Type of Solutions:  _______  Solution:  ________________ 

 


